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Social Security For Dummies

Social Security is funded by a payroll tax. When we make
wages, 6.2% is taken out of our paychecks to go to Social
Security. An additional 6.2% is matched by our employers.
This stops after the first 90k of income for each person.

In a perfect year, the Social Security beneficiaries would need
exactly as much money as we pay in taxes. However, most of
the time, the amounts are unequal. When the baby boomers
retire, they will require more money than the payroll tax
generates.
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To make up for this, we have years where we generate more in
payroll taxes than we need to spend on beneficiaries. This
excess goes into a Trust Fund. The Trust Fund grows each
time there is a yearly surplus.

Later, when there are years where the beneficiaries require
more money than the payroll taxes provide, we can take
money from the Trust Fund to make up the difference.

Since 1970, there have been 11 different years where we have
had to do that, and it s worked fine.
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How does the Trust Fund work? When excess money is
generated, Social Security is required by law to invest the
money in U.S. Treasury Bonds, considered the safest invest-
ment on the planet. They are issued by the U.S. Government,
who has never defaulted on them. These bonds are supposed
to be cashed in later when extra money is needed.

So, Social Security's Trust Fund is a big collection of bonds,
and the U.S. Government gets the cash.

What does the Government do with this money? It spends it.
That is theoretically okay if the intention is to pay it back later,
but that is not Bush's intention.

In 2003, the Bush Administration ran a deficit of $536 billion.
Social Security ran a surplus of $156 billion. (The Postal
Service also ran a surplus of $5 billion.) So, the Bush Admin-
istration reported a deficit of $380 billion instead of $536
billion, ignoring the fact that that money is supposed to be
earmarked for future bond redemptions.

Now the Bush Administration is saying that when beneficia-
ries require more money than payroll taxes generate - 2018 or

When actually, the truth is that the surplus is supposed to be
applied to social security in later years:

While the following shows what the real problem is, in red,
white and blue:
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To summarize, the Bush Administration takes the extra pay-
roll taxes intended for Social Security and spends it on war
and tax cuts:

Then, Bush declares there isn t money for when the Social
Security beneficiaries require more money than the payroll
taxes supply, and says the only solution is to cut Social Secu-
rity benefits:

2028, depending on who's talking - that we will not be able to
afford it.

This basically means that the Bush Administration is follow-
ing a policy of ignoring the Trust Fund entirely. Rather than
viewing excess money as going to the Trust Fund, they view it
as going to the government:

And then when the time comes, they will see the extra money
that the Beneficiaries needing as coming from the govern-
ment, from cashing in bonds:
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They will then paint this as a problem - even though this is
exactly how it is supposed to work - because in their mind, it
would require higher government spending. And the GOP
can t have that. So instead of paying us back, they say that
benefits would instead need to be cut.

It is important to recognize what they are doing here. The
payroll tax is a regressive tax designed for Social Security.
Normal tax is a progressive tax designed for normal govern-
ment spending. They are two separate systems. Revenue and
Spending need to balance out in each system, and they should
not intermingle:

But the Bush administration applies payroll tax to the normal
deficit, claims that the trust fund does not exist, says Social
Security needs to be cut, and implies that the government isn t
good for their U.S. Treasury Bonds anymore:
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